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e fE - EAEE [ e fE - EREE &% AEE-EEE [ e fE - EAEE [
0 ___fA/mI(100LLF) 0___fA/mI(100LLF) 0___fA/mI(100LLF) s 0____fA/mI(100LLTF)
= AREY - AREY - AREY - AREY
=36 [(=353) =36 (=353 [£3E9 [(=3E3) =3k [(=3¢3)
11 me/I(200LLF) ®E 10 mg/I(200LLF) ®E 11 me/I(200LLTF) %E 9.1 mg/I(200LLT) %E
70 pH(5.8-8.6) 68 pH(58-86) 69  pH(58-86) 6.9 oH (5.8-8.6)
ERERHEL
] < b-25:01k 2N ] S YA b= 2501k 2V ) 3 E-25d:01k 2N 2 3 b-25:0lk 2N
) E|_1%X#& E(5UT) 13 E| 1% E(5UT), 13 EHRES:] E(5LLT), & RS E(5UT)
El E| 0.1%iE EQUT) kil E| 0.1%KiE E(LUT), A E| 0.1k E(2LT) ol E| 0.1k E(2LLF)
I y @ I y @ 2 H # R % y I 2 H # R % 3 @
(Toc)os 0.4 mg/I(3LLTF) R (Toc)os 0.4 mg/I(3LLTF) R (Toc)og 0.4 mg/I(3LLTF) R (Toc)osg 0.4 mg/I(3LLTF) 3
% B O % 0.15 mg/I HE % B B * 0.15 mg/I HE % OB O % 0.2 mg/I HE % B B F 0.15 mg/I HE
35 S E[ 5] 37 —# 38 &
HERIER AEfE - EEE [ HBRER AENE - EEE % HRER HIE(E - R EE [ HERER e fE - EAEE [
— B\ B 0 ___{B/mlI(100L4F) HEEY i 0____{B/mI(100L4F) BEEY -k @ =" 0____{8/mI(100L47F) HEEY — B W\ B 0 f8/mi(100L4F) BEEY
x B B B [(E159) 35 [(E159) X B BE| 2t (B215) X & | Bt (B215)
B lEw A4 % 6.4 ___mg/I(200L4F) KR 9.2 ___mg/I(200LLF) RE B lEWm A X 9.3___mg/I(200LLT) HE B lEWm A% 9.2 ___mg/I(200LLT) KR
P H & 69E _pH(58-86) P H [ .
3 X %
] < b 2501k 2N B b 250l 2V ) 3 - 25d:01k 2N E-25:01k 2N
) E i EGHUT) 1RiE EGHUT) I3 HREY EGLET) ; E(GLT)
El EHRES EQUT) 0.1K:% EQUT) B EHNRES EQUT) f XES EQLT)
I y s N s 2 H # R % y I S 3 I
(Toc)os 0.9 mg/I(3LLTF) R 03 mg/I(3LLTF) R (Toc)os 0.4 mg/I(3LLTF) R 08 mg/I(3LLTF) 3
% 2 ig * 0.1 mg/| HE 0.25 mg/| HE % 2 ig * 0.2 mg/| HE 0.25 mg/| HE
39 =& 311 &
HERIER e fE - EAEE [ e fE - EAEE &% HBRER AEE-EEE [ e fE - EAEE [
— | B 0 ___{B/mlI(100L4F) HEEY 0____{B/mI(100L4F) BEEY -k @ = 0____f8/mI(100L4F) HEEY 0 f8/mi(100L4F) BEEY
x B B B [(E159) 35 (B21) X B E| 2t (B215) =3k [(=3E3)
B M A4 % 8.0 ___mg/I(200L4F) RE 9.3 ___mg/I(200LLF) RE B lEWm A X 9.3____mg/I(200LLTF) RE 9.1 ____mg/I(200LLT) RE
[ H [ 7.0§__ pH(5.8-8.6) P H &
% X 23 -
] < BES b-25:0lk 2N ] 3 b 2501k 2V ) 3 - 25d:01k 2N 2 3 HEEIADLL b-25:0lk 2N
) E|_1X#& EGUT) 1) E|__1X#& EGUT) 13 El__1XR#& E(GUT) & [ RE S E(5UUTF)
El E 03 EQUT) El HEES EQUT) B EHNRES EQUT) B 01K EQLT)
I s i A s s 2 H # R % N s 3 y s
(Toc)os 0.6 mg/I(3LLTF) R (Toc)os 0.4 mg/I(3LLTF) R (Toc)os 0.4 mg/I(3LLTF) R 0.4 mg/I(3LLTF) 30
B OB 5 % 0.15 mg/I| HE % B O % 0.1 mg/I HE % B O % 0.2 mg/I HE 0.15 mg/| HE
313 2%# 14 AR 315 H
HERER AEfE - EEE [ HBRER AEfE - EEE &% HBRER AEE-EEE [ e fE - EAEE &%
j—(ﬂ;%n%fﬂn ______ g ﬂ%tg 1_l§|/rr1<|[§1(;))u‘l<> EREY j—(ﬂ&ﬁﬂﬂg ﬂ%tg 1_E|/m<|E<§1(;J)LA‘F> AREY j—(ﬂ&ﬁﬂﬂg ﬂ%tg 1_E|/m<|[§‘|gio)u‘l<> R E%Eg 11_E|/m<|[§‘|(3£0)u‘l<> EREY
B e A4 % 9.2 mg/I(200L4F) KR B W A4 A 6.4 __mg/I(200LLF) RE B lEWm A X 8.3 __mg/I(200LLT) RE 7.8 ____mg/I(200LLT) RE
P H & 7.1§_ P H & P H & N
] < ERERHEL b-25:0lk 2N ) K b= 2501k 2N ) 3 - 25d:01k 2N EEEZHEL b-25:0lk 2V
) HERES EGHUT) £ E i EGUT) I3 HERES EGET) IS E(GLT)
El E| 0.1k EQUT) il E| 0.1%KiE E(2LT), A E| 0.1k E(2LT) 0.1k E(2LLF)
I N s i 2 H # R % s s 2 B B Rk % N s y s
(Toc)os 0.3 mg/I(3LLTF) R (Toc)os 0.7 mg/I(3LLF) R (Toc)os 03 mg/I(3LLTF) R 05 mg/I(3LLF) RE
B OB 5 % 0.25 mg/I| HE % B O % 0.1 mg/I HE % B O % 03 mg/I HE 0.2 mg/| HE




e fE - EAEE % HERER e fE - EREE e AEE-EEE % HERIER e fE - EAEE [
0____fB/mI(100LL ) — B @ B 0____fB/mI(100LLF) 0 {B/mI(100LL ) 5 — B Wm & 0 fB/mI(100LTF)

i Gy FREY X E. | EE () AREY Ef () FREY X L | i) ALY
9.2 mg/I(200L4F) KR B W A A 9.2 ___mg/I(200LLF) RE 9.5___mg/I(200LLT) RE Bl A% 11 mg/1(200LLF) KR
72 _pH(58-86) P H [ 70 P H [ 75 pH(58-8.6)

HRZE % % HEEIHL
b2 TV ] S B b-25:0lk 2V - 25d:01k 2N 2 3 EREIHL ERRER
B EGUT) & INNES: EGUT) [ EGHUT) & [EIES: EGHUT)
[(XES EQUT) El FEES EQUT) [XES EQUT) & EES EQLT)
g 5 a £ H #B R £ N a N a £ H B R £ y o
0.3k mg/I(3LLTF) RE (Toc) o8 04 mg/I(3LLTF) RE 04 mg/I(3LLTF) RE (Toc) o8 04 mg/I(3LLF) RE
0.25 mg/| HE % B i & 0.25 mg/| HE 0.15 mg/| HE B B i & 0.15 mg/| HE
3 LB Y5 Ha
e 8 - EAEE % HERIER e fE - EAEE e AEE-EEE [ HERIER e fE - EAEE [
0 ___{B/mI(100L4TF) — B W&’ 0____{B/mI(100L4F) 0____f8/mI(100L4F) s — B W\ B 0 f8/mi(100L4F)

2 Y] FREY X E. | () AREY Ef () FREY X LA i) AREY
11 me/I(200LLF) KR B W A4 A 10 mg/I(200LLF) RE 8.5 __mg/I(200LLT) HE B lEWm A% 9.3____mg/I(200LLT) KR
. P H i& . P H &

3 Bk
B b 2542V ] S b 250l 2V ERZEAHEL - 250:01k 2N ) 3 B b-25:0lk 2V
1Kim EGLUT) ) EANRES: | E(5LLT) 1K E(5LLTF) & ERES: E(5LLT)
[(XES EQUT) El FEES EQUT) [XES EQUT) & EES EQLT)
N an £ H #B R £ B N a N a £ H #H R F y w
0.4 mg/I1(3LLF) R (Toc)os 0.3 mg/1(3LLF) R 0.4 mg/I(3LLTF) R (Toc)os 0.4 mg/I(3LLTF) 30
0.1 mg/| HE % B i & 02 mg/| HE 02 mg/| HE % B i & 02 mg/| HE
9 1
e fE - EAEE % e fE - EAEE e AEE-EEE % HERER e fE - EAEE [
0 ___{B/mlI(100L4TF) — . W&’ 0____{B/mI(100L4F) 0____{8/mI(100L47F) s — W\ B 0 f8/mi(100L4F)

i Gy FREY X E. | EE () AREY B () FREY X L | i) FREY
9.0 ___mg/I(200L4F) KR B W A4 A 9.4 __mg/I(200LLF) RE 7.5____mg/I(200LLT) RE Bl A % 12 mg/I1(200LLF) RE
72 pH(58-86) P H [ 72 pH(58-86) 71 pH(58-86) P H [ 71 oH (5.8-8.6)

% = Bk
b-25:01k 2N ] S L5 b= 250l 2V - 25d:01k 2N 2 3 b-25:0lk 2V
[ES EGHUT) £ HERES EGHUT) 1R EGLET) [ FEREY E(BLT)
[XES EQUT) El FEES EQUT) (XES EQUT) & EES EQLT)
y -~ A N s N s 2 H # R % 3 I
0.4 meg/1(3LLF) R (Toc)os 0.4 mg/I(3LLTF) R 07 mg/I(3LLTF) R (Toc)osg 0.4 mg/I(3LLTF) RE
0.25 mg/| HE % B i & 0.15 mg/| HE 0.1 mg/| HE % B i & 0.1 mg/| HE
Y11 BRI Y13 K&
e fE - EAEE &% HERER e fE - EREE e AEE-EEE [ HERER e fE - EAEE %%
0 ___{B/mlI(100L4F) — . W &' 0____fB/mI(100L4F) 0____f8/mI(100L4F) s — W\ B 0 {8/mi(100L4F)

i Gy FREY X E. | EE () AREY B () FRLEY K L 1) ARED
9.6____mg/I(200L4F) RE B W A4 A 9.6_____mg/I(200LLF) RE 9.3____mg/I(200LLT) RE Bl A% 11 mg/I(200LLF) RE
7.1 pH(58-86) P H [ 69  pH(58-86) 65 pH(58-86) P H [ 69 oH (5.8-8.6)

5 HEEIDHLN 3 %
ERRER ] 3 ERERHEV b= 250l 2V 3 - 25d:01k 2N 2 3 ERRtER

[ES EGHUT) £ HERES EGHUT) 1R EGLET) [ FREY E(BLT)

[(XES EQUT) El FEES EQUT) (XES EQUT) & ERES BT
y & I N s N s 2 H # R % 3 I

05 meg/I1(3LLTF) R (Toc)os 0.4 mg/I(3LLTF) R 03 mg/I(3LLTF) R (Toc)os 0.4 mg/I(3LLTF) 3

0.25 mg/| HE % B i & 0.25 mg/| HE 02 mg/| HE % B i & 02 mg/| HE




Y14 B Y15 & 1 EHif +2 BiE

HERIER e fE - EAEE % HRBRER e fE - EREE e HERIER AEE-EEE % e fE - EAEE [
— B\ B 0____fB/mI(100LL ) — . W&’ 0____fB/mI(100LLF) -k @ =" 0 {B/mI(100LL ) 5 0 fB/mI(100LTF)
E Gy FREY X E. | EE () AREY XL | () FREY B D ARED
B e A4 A 11 me/I(200LLF) KR B W A A 10 mg/I(200LLF) RE B lEWm A X 58 ___mg/I(200LLT) RE 5.8 ___mg/I(200LLT) KR
P H & 7.0 P H i& [ H &
73 = % E B
& 3 ] b2 TV ] S EREEZHEN HERRER & 3 ERRER Y 2 ERRER
& [IRE S EGUT) & INNES: EGUT) & [EIES EGHUT) & [EIES: EGHUT)
& EES EQUT) o FEES EQUT) B [ERXES EQUT) B EES EQUT)
; 04 me/IBUT) W ] 04 me/IBUT) R %T”i éﬁ) " E sk me/1GUT R ; 03 me/IBUT) T
=
0.15 mg/| HE 02 mg/| HE B B i & 0.25 mg/| HE 0.15 mg/| HE
*5 gk
e 8 - EAEE % e fE - EAEE e HERER AEE-EEE % e fE - EAEE [
0 ___{B/mI(100L4TF) 2 ___fB/mI(100LLF) -k @ = 0____f8/mI(100L4F) s 0 f8/mi(100L4F)
i Y] FREY B () AREY XL | () FREY B i) AREY
5.8 ____mg/I(200L4F) KR 3.6____mg/I(200LLF) ®E B lEWm A X 6.0 __mg/I(200LLT) HE 4.1 mg/I(200LLF) KR
75 pH(5.8-86) 7.7 pH(5.8-86) P H [
B
b 2542V ] S ELo A ) ERRTER & 3 ERRER Y 2 ERERER
B EGUT) & [NNES: EGUT) & [EES EGHUT) [ HMES: EGHUT)
[(XES EQUT) El [EANES EQUT) B [ERXES EQUT) & [RE S EQUT)
3 y - EEE y = 2 H # R % , y I 3 I
03 mg/I(3LLTF) RE (Toc) o & 03 mg/I(3LLF) RE (Toc) o g 0.3k mg/I(3LLTF) RE 0.5 mg/I(3LLTF) RE
0.2 mg/I HE % B O % 025 mg/I| HE % B B F 0.2 mg/| HE 0.15 mg/I HE
18 HR
e fE - EAEE % e fE - EAEE e AEE-EEE % e fE - EAEE [
0____fB/mI(100LL ) 0____{B/mI(100LLF) 0 fB/mI(100LL ) 5 0 fB/mI(100LLTF)
03 G35 FREY B 30 AREY B () FREY i () FREY
40 mg/I(200LLF) KR 45 meg/I(200LLTF) RE 58 ___mg/I(200LLT) RE 44 mg/I(200LLTF) %E
76 pH(5.8-8.6) 77 pH(58-86) 75 pH(58-86) 76 oH (5.8-8.6)
ERERDEL
& 3 b2 TN ] S BOEL ERRtER & 3 ERERER Y 2 ERRER
) RES EGHUT) £ HRES EGHUT) I3 HRES EGLET) [ EIRES: E(BLT)
El E| 0.1k EQUT) El E| 0.1%KiE E(LUT), A E 0.1 EQUT) El E| 0.1k E(2LLF)
I y -~ A y = 2 H # R % y I 2 H # R % 3 I
(Toc)os 0.3 mg/I(3LLTF) R (Toc)os 0.4 mg/I(3LLTF) R (Toc)os 03 mg/I(3LLTF) R (Toc)osg 03 mg/I(3LLTF) RE
B B i & 0.25 mg/| HE % B i & 02 mg/| HE % B i & 0.15 mg/| HE % B i & 0.15 mg/| HE
+1 =% 2 B +3 BE 4 i
HERIER e fE - EAEE % RBRER e fE - EREE e HERIER AEE-EEE % HERER e fE - EAEE %%
— B @ & 0__{8/mI(100LLT) — B W B 0__{8/mI(100LLT) — & Wm_ @ 0 E/mI(1005IT) | , — B W B 0___{8/mI(100ELT)
E Gy FREY X E. | R () AREY XL | R () FRLEY X L | 1) ARED
B M A4 % 4.7 ___mg/I(200LLF) RE B W A4 A 47 meg/I(200LLTF) RE B lEWm A X 7.7____mg/1(200LLTF) RE Bl A% 3.6____mg/I(200LLT) RE
P H [ . P H . pH(58-86) P H [ . P H [E
Bk 3 £ B Bk
& 3 ERRER & b-25: TN & 3 ERERER Y 2 ERRtER
=) JEARES: E(BLT) ) BE(BLLT) & EAERES: | BE(BLLT) & ERES: B (5LLT)
El E[0i%E EQUT) El E EQUT) B E 01 EQLT) El E[01XE EQLUT)
2 H # R X y & I y = 2 H # R % y I 2 H # R % 3 I
(Toc)os 05 mg/I(3LLTF) R (Toc)os 0.4 mg/I(3LLTF) R (Toc)os 05 mg/I(3LLTF) R (Toc)os 05 mg/I(3LLTF) 3
B B i & 0.1 mg/| HE % B i & 02 mg/| HE % B i & 02 mg/| HE % B i & 0.1 mg/| HE




+5 H& +6 B +7 B

HERIER e fE - EAEE % HRBRER e fE - EREE e HERIER AEE-EEE % e fE - EAEE [
— B\ B 1 _fB/mI(100LL ) — . W&’ 0____fB/mI(100LLF) -k @ =" 0 {B/mI(100LL ) 5 0 fB/mI(100LTF)
KL | Gy FREY X E. | R () AREY XL | R () FREY i () ALY
B e A4 A 34 mg/I(200L4F) KR B W A A 3.6 ___mg/I(200LLF) RE B lEWm A X 3.7____mg/I(200LLT) RE 44 mg/I(200LLTF) KR
P H & 75 P H i& [ H &
] < ERERHEV b2 TV ] S ERERHEV b= 21DV ) 3 - 25d:01k 2N Y 2 ERRER
& [ERES: EGHT) ) [ERES EGHT) & [EIMRES: EGUT) & [EIRES: EGHT)
& EES EQUT) o [EANES EQUT) B [ERXES EQUT) & ENXES EQUT)
: y I~ 3 N s £ A B K % 3 & 2 H # R % , N I
05 meg/I1(3LLF) RE 04 mg/1(3LLTF) R (Toc)os 03 mg/I(3LLTF) R (Toc)oB 0.3k meg/I(3LLTF) RE
0.1 mg/| HE 0.1 mg/| HE % 2 ig * 0.1 mg/| HE % 2 ig * 0.25 mg/| HE
11 BE 12 RRE
e 8 - EAEE % e fE - EAEE e HERER AEE-EEE % e fE - EAEE [
0 ___{B/mI(100L4TF) 0____{B/mI(100L4F) -k @ = 0____f8/mI(100L4F) s 0 f8/mi(100L4F)
i Y] FREY B () AREY XL | R () FREY B i) AREY
58 ____mg/I(200L4F) ®E 5.7_____mg/1(200L4F) ®E B tw 44 5.7____mg/I(200LLF) %E 59 ___ma/I(200LLT), %E
68 pH(5.8-86) 70 pH(5.8-86) P H [
B
& 3 b 2542V ] S ELo A ) ERRTER ) 3 - 250:01k 2N Y 2 ERERER
& [IRE S EGUT) & [NNES: EGUT) & [EES EGHUT) & EIES: EGHUT)
El [ENXES S EQUT) El [EANES EQUT) B [ERXES EQUT) & ENXES EQUT)
N N y -~ A : Ny I 2 H # R % , y I 2 H # R % , N -
(Toc)os 0.3k meg/1(3LLTF) RE (Toc) o= 0.3 mg/I1(3LLTF) R (Toc)oB 0.3k mg/I(3LLTF) R (Toc)oB 0.3k mg/I(3LLTF) RE
B B i & 02 mg/I HE % B i & 02 mg/| HE % B i & 02 mg/| HE % B i & 0.25 mg/| HE
14 &
e fE - EAEE % e fE - EAEE e AEE-EEE % e fE - EAEE [
0____fB/mI(100LL ) 0____{B/mI(100LLF) 0 fB/mI(100LL ) 5 0 fB/mI(100LLTF)
303 G35 FREY i 30 AREY i () FREY B () FREY
3.9 mg/I(200L4F) KR 7.6_____mg/I(200LLF) ®E 3.6___mg/I(200LLT) %E 3.5 ___mg/I(200LLT) %E
72 pH(5.8-8.6) 72 pH(58-86) 77 pH(58-86) 79 pH(58-8.6)
ERERDEL = =
] = b2 TN ] S EREERHEN ERRtER & 3 = - 25d:01k 2N 2 3 = ERRER
) RES EGHUT) £ HMRES EGHUT) I3 Bl EE 5UF) [ EIRES: E(BLT)
El [ENXES S EQUT) El [ENES EQUT) B [ERXES EQUT) & ENXES EQUT)
I N y - A y = 2 H # R % y I 2 H # R % 3 I
(Toc)os 0.3 mg/I1(3LLF) RE (Toc) o g 05 mg/I1(3LLF) R (Toc)os 0.4 mg/I(3LLTF) R (Toc)osg 0.6 mg/I(3LLTF) RE
B B i & 03 mg/| HE % B i & 0.1 mg/| HE % B i & 0.15 mg/| HE % B i & 0.1 mg/| HE
17 R#F ERERERR
HERIER e fE - EAEE % |Tﬁ"ﬁ7k*ﬁtﬂ1 KIGERER 0 MPN/100ml
— B @A 0__fB/mIG00UT) | emim, ” BEMEFIE B
X ] & ___IBf [(=353)
R R 35 me/I(2004F) R |i‘;ur§7r<*1§tm ARG ERES 0 MPN/100ml
P H & : " BRREFRE BE
Bk
= = 5 ERERtER
=) JEARES: EGLUT)
El [ENXES S EQUT)
I y )
(Toc)os 0.6 meg/I1(3LLF) RE
% B B % 0.25 mg/| HE




